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Propetties of Non-Isosceles Trapezoids:
I c§ « Only OME pcir of opposite sides parallel.
« Consecutive angles are supplementary.

ISOSCELES oot |

Trapesods les #

Isosceles trapezoids have the same prop'e'dics as
non-isosceles frapezoids, plus these:

» Non-parallel sides {legs} are congruent.
lcs « Diagonals are congruent.
» Base angles are congruent.

bDate 2

« Oppasite ongles are supplementary.

Practice! Find each missing value on the trapezaids below,
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MIDSEGMENT p
ofa TRAPEZOID | ,

The midsegment of a irapezoid connects the midpoinks of the legs:

Practice! Use the trapezoid above for questions 1-4.

1. If AB = 14 and DC = 26, find £F.

E{-»;“_/L/;aép :

2. If AB = 7 and DC = 31, find EF.

£F - 7~r3(‘

Kites- 0:»15#//

B If EF Is the mldsegmontoftrapezoid ABCD, then:
5
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3. fEF =22 and IgC‘ 38, fing A /15 4. If AB = 41 and EF = 47, find DC.
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5. For trapezoid PQRS, 1 and Z are midpoints of the legs. Find 17
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PROPERTIES
OF A Kite

A kite is a quadrilateral with the following properties:
¢ Exactly two pains of consecutive congruent sides.

(AB = 1D and BC=DC)

¢ One pair of opposite angles are congruent.

(ZABC = £4DC)

¢ Diagonals are perpendicular.

{(4C LBD)

Practice! If each quadnlateral belowis a kite, find the missing values.

1. 5 Y43+ x ¢+ 45 - o 2. £ 3(90'8‘1'92’7':
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